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School Service Exam. Practice Set (Based on Tentative Syllabus)
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Answers with Explanation

(a) Fatalist

(c) Fastidious

(c) Having broken
(d) Does he?

(d) We had completed our task before sunset.
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(b) To catch a dangerous person
(d) Hurdle

(a) Religious

(a) Agglomeration

. (c) Satellite
. (b) To give false alarm

(d) Terminated
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43. (b) divergent A oRe

44. (b) wants, leaving

45. (¢) on

46. (b) herd

47. (d) He exclaimed that it was a very cold day.

48. (c) He requested the interviewer to repeat the
question.

49. (b) He was made a king by them.

50. (b) For

51. (a) Soundly

52. (d) misogynist
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(a) Alluring

(b) Hardly had

(b) Ran away from the scene
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